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1. Which of the following series converges?
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2. Which of the following statements is true?

(1) If 0 < a, < by and 3 b, converges, then 3" a, converges. 1RUE (Gﬂw A Tﬁ’r>
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3. Which of the following series converges?
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C. (I) and (III) only. ne |

D. (II) and (III) only. and o g (TGS

E. (I) only.

4. Which of the following statements is correct (only one of them is correct):
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I) and (II) are absolutely convergent.

I) is divergent, (II) is absolutely convergent.

I) and (IT)are conditionally convergent.
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I) is conditionally convergent, (II) is absolutely convergent.
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I) is divergent, (II) is conditionally convergent.
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7. Consider the following series:
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A. They all converge. _ _é/ﬁ— <o ‘5’ Z-sz< o
B. Only (I) and (II) converge. (}H’) —> 2 22
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C. Only (I) and (III) converge. — 7;: !‘

@ Only (II) and (III) converge.
E. They all diverge.

8. Consider the following series:
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A. They all converge.

Only (I) and (II) converge.
C. Ouly (I) and (III) converge.
D. Ounly (II) and (III) converge.
E. They all diverge.
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9. Find the radius of convergence of Z Vn2tz™.
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11. Find a power series for the indefinite integral F'(¢) = T
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12. Find the Taylor series for f(z) = €*® centered at a = 3.
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